Convergence of sums of squares of martingale differences

bу

Y. S. Chow

Department of Statistics

Division of Mathematical Sciences

Mimeograph Series Number 98

December, 1966

This research was supported by the National Science Foundation under Grant GP-06073.

Convergence of sums of squares of martingale differences 1

by

Y. S. Chow

Purdue University

1. Introduction and notation. Let (Ω, \mathcal{F}, P) be a probability space. A stochastic basis $(\mathcal{F}_n, n \geq 1)$ is a monotonically increasing sequence of σ -fields of measurable sets. A stochastic sequence $(y_n, \mathcal{F}_n, n \geq 1)$ consists of a stochastic basis $(\mathcal{F}_n, n \geq 1)$ and a sequence of random variables $(y_n, n \geq 1)$ such that y_n is \mathcal{F}_n -measurable. For a stochastic sequence $(x_n, \mathcal{F}_n, n \geq 1)$, we put (here as well as in following sections)

$$\begin{aligned} &x_{o} = 0, \quad \mathcal{F}_{o} = \{\Phi,\Omega\}, \quad d_{n} = x_{n} - x_{n-1} \text{ for } n \geq 1, \quad s_{n} = (\sum_{k=1}^{n} d_{k}^{2})^{1/2} \\ &x^{*} = \sup_{n \geq 1} |x_{n}|, \quad d^{*} = \sup_{n \geq 1} |d_{n}|, \quad s = \lim_{n \to \infty} s_{n}, \end{aligned}$$

and I_A = indicator function of set A. If $(x_n, x_m, n \ge 1)$ is a martingale, then $(d_n, x_n, n \ge 1)$ is called a martingale difference sequence. For a given stochastic basis $(x_n, n \ge 1)$, a stopping time t is an extended positive integral valued measurable function such that $[t = n] \in x_n$ for each n. For a stopping time t and a measurable function y, x_t is defined as x_t is defined as x_t in short, if it exists.

Let $(x_n, \mathcal{F}_n, n \geq 1)$ be a martingale. Austin [1] recently proves that if $\sup_{n \geq 1} \mathbb{E}[x_n] < \infty$, $s < \infty$ a.e.; also Burkholder [2] proves that if $\mathbb{E}[s < \infty)$ x_n converges a.e. and that if $\sup_{n \geq 1} \mathbb{E}[x_n] < \infty$, then $\sum_{k=1}^{\infty} \phi_k d_k$ converges a.e. for every stochastic sequence $(\phi_k, \mathcal{F}_{k-1}, n \geq 1)$ for which $\sup_{n \geq 1} |\phi_n| < \infty$ a.e.; Gundy [6] proves that if $(d_n, n \geq 1)$ is an orthonormal sequence such that

This research was supported by the National Science Foundation under Grant GP-06073.

each d_n assumes at most two nonzero values with positive probability, and if the σ -field generated by d_1,\ldots,d_n consists of exactly n atoms, such that

$$\inf_{n \ge 1} \min(P[d_n > 0], P[d_n < 0]) / P[d_n \neq 0] > 0$$
,

then for every sequence a_n of real numbers, $\sum_{n=1}^\infty a_n^2 \, d_n^2 < \infty$ if and only if $\sum_{n=1}^\infty a_n \, d_n$ converges .

Let $(\mathcal{F}_n, n \geq 1)$ be a stochastic basis if for each n, \mathcal{F}_n is generated by atoms of \mathcal{F}_n , then $(\mathcal{F}_n, n \geq 1)$ is said to be atomic. For a σ -field \mathcal{F}_n of measurable sets and $A \in \mathcal{F}$, a \mathcal{F}_n -measurable cover of A is a set $C \in \mathcal{F}_n$ such that P(A - C) = 0 and that if $B \in \mathcal{F}_n$ and P(A - B) = 0, then P(C - B) = 0. For $A \in \mathcal{F}_n$, let $C_n(A)$ be the \mathcal{F}_n -measurable cover of A. If there exists M > 0 such that $P(C_n(A) \leq M P A$ for every $A \in \mathcal{F}_n$, $n = 1, 2, \ldots$, then $(\mathcal{F}_n, n \geq 1)$ is said to be regular.

Let $(x_n, x_n, n \ge 1)$ be a submartingale and $E|x_n| < \infty$ for each n. If $(x_n, n \ge 1)$ is an atomic, regular stochastic basis, then [3] x_n converges a.e. on the set $[\sup x_n < \infty]$. In [5], Doob extends this result to the non-atomic cases; if for K > 0, there exist $M \ge K$ and $\delta > 0$ such that

 $P\{[\max_{k \leq n} x_k < K] - ([E(x_{n+1} \geq M|\mathcal{F}_n) = 0] \cup [E(x_{n+1} \geq K|\mathcal{F}_n) > \delta])\} = 0 ,$ then x_n converges a.e. on the set $[\sup_{n > 1} x_n < K]$.

In this paper, we will give new proofs of those theorems mentioned above and in some cases extend them, by method of stopping times. The results of Gundy, Austin and Burkholder are unified into Theorems 3 and 5. Theorem 5 extends a result of Doob [4; 320] to regular stochastic basis.

2. A proof of Austin's theorem.

Theorem 1 (Austin [1]). If $(x_n, \mathcal{F}_n, n \ge 1)$ is a martingale and $\sup_{n \ge 1} \frac{\mathbb{E}|x_n|}{\mathbb{E}|x_n|} = \mathbb{M} < \infty, \text{ then } s < \infty \text{ a.e.}.$ Proof. Let $\delta > 0$ and K > 1. Put

$$g_0 = 1$$
, $g_n = II_{k=1}^n (1 + d_k K^{-1})$ for $n \ge 1$, $t = t_K = \inf \{n \mid |g_n| \ge 1 + \delta \text{ or } |x_n| \ge \log K \}$.

Set $h_n = g_{\min(t,n)}$. Then

$$|h_n| \le (1 + \delta) I_{[t > n]} + (1 + \delta)(1 + |d_t| K^{-1}) I_{[t < n]}$$

Since

$$\int_{[t \le n]} |d_t| \le \int_{[t \le n]} (|x_t| + |x_{t-1}|)$$

$$\le \log K + E|x_{\min(t,n)}| \le \log K + M$$

Hence $E_t|d_t| \leq \log K + M$, where $E_t|d_t| = \int_{[t < \infty]} |d_t|$. Therefore, $E_t|d_t| = \int_{[t < \infty]} |d_t|$ and $(h_n, \mathcal{F}_n, n \geq 1)$ is a martingale. By Doob's martingale convergence theorem [4, p.319], h_n tends to h_∞ a.e. and in L_1 .

$$\begin{split} 1 &= E \ h_{\infty} = \int_{[t < \infty]} h_{t} + \int_{[t = \infty]} h_{\infty} \\ &\leq (1 + \delta) \int_{[t < \infty]} (1 + |d_{t}| K^{-1}) + (1 + \delta) P[t = \infty, h_{\infty} > 0] . \end{split}$$

Let $\varepsilon > 0$. Since $\mathbb{E}_t | \mathbb{d}_t | \leq \log K + M$, $\mathbb{E}_t | \mathbb{d}_t | \leq \varepsilon K$ for all large K and $(1 + \delta) P[t_K = \infty, h_\infty \leq 0] \leq \delta + (1 + \delta)\varepsilon$. Since \mathbf{x}_n converges a.e., we have that $\lim_{K \to \infty} \mathbf{g}_n = \mathbf{g}_\infty$ exists a.e., $\lim_{K \to \infty} P[t_K = \infty] = 1$, and that $\mathbf{g}_\infty > 0$

for all large K if and only if $s < \infty$. Hence $P[g_{\infty} \le 0] \le \delta + 2\varepsilon$ and $P[s = \infty] \le \delta + 3\varepsilon$, if K is large enough. Therefore $P[s = \infty] = 0$.

3. A proof of Burkholder's theorem.

Theorem 2 (Burkholder [2]). If $(x_n, \mathcal{F}_n, n \ge 1)$ is a margingale and E s < ∞ , then x_n converges a.e.

Proof. If $d_n \neq 0$, then $d_n(s_n - s_{n-1})^{-1} = s_n + s_{n-1} \leq 2s$. For K > 1, let

$$t = t_K = \inf\{n \mid 0 \le d_n^2 \ge K(s_n - s_{n-1})\}$$
.

Since $s < \infty$ a.e., $\lim_{K \to \infty} P[t_K = \infty] = 1$. Put $e_k = d_k I$ and $[t \ge k, d_k^2 \le 1]$ $z_n = \sum_{k=1}^n (e_k - E(e_k | \mathcal{F}_{k-1}))$. Then $(z_n, \mathcal{F}_n, n \ge 1)$ is a martingale, and

$$\begin{split} & \text{E } z_n^2 \leq \Sigma_{k=1}^n \text{ E } e_k^2 \leq \Sigma_{k=1}^n \text{ } (\int_{\texttt{[t>k]}} d_k^2 + \int_{\texttt{[t=k]}} |d_k| \text{ }) \\ & \leq \text{K } \Sigma_{k=1}^n \text{ E} (s_k - s_{k-1}) + \int_{\texttt{[t<\infty]}} |d_t| \leq (\text{K+1}) \text{ E s } . \end{split}$$

Hence z converges a.e. . Now

$$\begin{split} |\mathbf{E}(\mathbf{e}_{k}|\mathcal{F}_{k-1})| &= |\mathbf{E}(\mathbf{I}_{t \geq k}, \ \mathbf{d}_{k}^{2} > \mathbf{1}]^{-d_{k}|\mathcal{F}_{k-1}})| \\ &\leq \mathbf{E}(\mathbf{I}_{[t = k]} \ |\mathbf{d}_{t}| \ \mathcal{F}_{k-1}) + \mathbf{E}(\mathbf{I}_{[t > k]} \ \mathbf{d}_{k}^{2}|\mathcal{F}_{k-1}) \\ &\leq \mathbf{E}(\mathbf{I}_{[t = k]} \ |\mathbf{d}_{t}|\mathcal{F}_{k-1}) + \mathbf{K} \ \mathbf{E}(\mathbf{s}_{k} - \mathbf{s}_{k-1}|\mathcal{F}_{k-1}) & \bullet \end{split}$$

Hence $\mathbb{E} \sum_{k=1}^{\infty} \left| \mathbb{E}(\mathbf{e}_k | \mathcal{F}_{k-1}) \right| \leq \mathbb{E}_t |\mathbf{d}_t| + \mathbb{K} \, \mathbb{E} \, \mathbf{s} < \infty$ and $\sum_{k=1}^{\infty} \mathbb{E}(\mathbf{e}_k | \mathcal{F}_{k-1})$ converges a.e. Therefore $\sum_{k=1}^{\infty} \mathbf{e}_k$ converges a.e. Since $\lim \mathbf{d}_k = 0$ a.e., \mathbf{x}_n converges a.e. on $[\mathbf{t}_k = \infty]$. Hence \mathbf{x}_n converges a.e.

Alternatively, we can also prove Theorem 2 as follows. Put $a_k=d_k I[t\geq k]$ Then $\Sigma_{k=1}^n$ a_k is a martingale and

$$\sum_{k=1}^{\infty} E(a_k^2 I_{a_k^2 \le 1}] + |a_k| I_{a_k^2 \ge 1}) < \infty ,$$

which can be proved by the same method that was used in the preceding proof. By a theorem of Loéve [10], $\Sigma_{k=1}^{\infty}$ a converges a.e. and then x_n converges a.e. .

4. An induced stopping time.

Let $(\mathcal{F}_n, n \geq 1)$ be a stochastic basis and t be a stopping time. Let $(B_n, n \geq 1)$ be a sequence of measurable sets such that $B_n \in \mathcal{F}_n$ for each n. Let $A_{n+1} = B_n[t=n+1]$ and $C_n = C_n(A_{n+1})$ be the \mathcal{F}_n -measurable cover of A_{n+1} . For $m=1,2,\ldots$, define

$$\tau = \tau_m = \inf \{n \ge m \mid \omega \in C_n \}$$
,

and

(1)
$$t^* = t_m^* = \min(t,\tau)$$
.

Then the stopping time t^* is said to be induced by $\{t, (B_n, n \ge 1), m\}$.

Lemma 1. Let t be a stopping time and $(B_n, n \ge 1)$ be a sequence of measurable sets such that $B_n \in \mathcal{F}_n$. For $m = 1, 2, \ldots$, define t^* by (1). Then t^* is a stopping time, $t^* \le t$ a.e., $[t^* = t = k] \subset [t = k] - B_{k-1}$ for $m \le k \le \infty$, and if

(2)
$$P[C_n, i_{\bullet}o_{\bullet}] = \lim_{n \to \infty} P(\bigcup_{k=n}^{\infty} C_k) = 0,$$

then

(3)
$$\lim_{m \to \infty} P[t_m^* < t = \infty] = 0 .$$

Proof. Obviously t^* is a stopping time and $t^* \le t$ a.e. Since $[t > n] \supset C_n \subset B_n$, $\tau < t$ if $\tau < \infty$. For $m < k < \infty$, if $t^*(\omega) = t(\omega) = k$, then $\omega \notin U_{j=m}^{\infty} C_j$, $\omega \notin C_{k-1} \supset B_{k-1} [t=k]$ and $\omega \in [t=k] - B_{k-1}$. If (2) holds, then

$$\lim_{m \to \infty} P[t_m^* < t = \infty] \le \lim P[\tau_m < t] = \lim P(\bigcup_{k=m}^{\infty} C_k) = 0 ,$$

which yields (3).

In most applications, in Lemma 1, we either put $B_n=\emptyset$ for every n or put $B_n=\Omega$ for every n. In the former case, (2) is automatically satisfied; in the latter case, if $(\mathcal{F}_n, n \geq 1)$ is regular, (2) is always satisfied, since for some M>0,

$$(4) P(U_{k=n}^{\infty} C_{k}) \leq \sum_{k=n}^{\infty} P C_{k} \leq M \sum_{k=n}^{\infty} P A_{k+1} \leq M P[n < t < \infty] .$$

5. Main results.

Theorem 3. Let $(x_n, \mathcal{F}_n, n \ge 1)$ be a martingale, $\mathbb{E}|x_n| < \infty$ and for K > 0, put

(5)
$$t = \inf \{ n | x_n \ge K \} .$$

Let $(y_n, \mathcal{F}_n, n \ge 1)$ be a stochastic sequence such that $y_n \ge 0$ a.e. . For $n \ge 1$, let $B_n \in \mathcal{F}_n$ and

(6)
$$B_{n} \supset [E(I_{t = n + 1}, (x_{t} - y_{t}) | \mathcal{F}_{n}) > 0] .$$

Let $A_{n+1} = B_n[t=n+1]$ and C_n be the \mathcal{F}_n -measurable cover of A_{n+1} . If (2) holds and

(7)
$$\sum_{k=2}^{\infty} \int_{[t = k] - B_{k-1}} y_t = M < \infty ,$$

then

(8)
$$P[s = \infty, \sup_{n} x_{n} < K] = 0$$

Proof. For $m=1,2,\ldots$, define $t^*=t_m^*$ by (1). Put $z_n=\Sigma_{k=1}^n\ d_k\ I_{t^*\geq k}$. Then $(z_n,\mathcal{F}_n,n\geq 1)$ is a martingale and

$$\begin{aligned} &z_n \leq K &, & \text{if } t^* > n & \text{or } t > t^* < n \\ &= x_t > 0 &, & \text{if } m < t^* = t = k \leq n \\ &\leq \left| d_1 \right| + \dots + \left| d_m \right| , & \text{if } t^* \leq m \end{aligned} .$$

Since

$$\begin{split} & \sum_{k=m+1}^{\infty} \int_{\left[t^{*}=t=k\right]}^{x} x_{t} \leq \sum_{k=m+1}^{\infty} \int_{\left[t=k\right]-B_{k-1}}^{x} ((x_{t}-y_{t}) + y_{t}) \\ & \leq M + \sum_{k=m+1}^{\infty} \int_{\Omega-B_{k-1}}^{x} E(I_{\left[t=k\right]}(x_{t}-y_{t}) \mid \mathcal{F}_{k-1}) \leq M \end{split} ,$$

then $\sup E z_n^+ < \infty$ and thus $\sup E |z_n^-| < \infty$. By Austin's theorem,

$$\sum_{k=1}^{\infty} d_k^2 \quad I_{t^* \ge k} < \infty \quad \text{a.e.} \quad .$$

Therefore $P[s=\infty, t_m^*=\infty]=0$. By Lemma 1, $P[s=\infty, t=\infty]=0$. Hence $P[s=\infty, \sup x_n < K]=0$.

Theorem 4. Let $(x_n, \mathcal{F}_n, n \ge 1)$ be a martingale, $E x_n^2 < \infty$, and for K > 0, put

$$(9) t = \inf \{n | |x_n| \ge K\} .$$

Assume that $(y_n, \mathcal{F}_n, n \ge 1)$ is a stochastic sequence such that $y_n \ge 0$ a.e. . For $n \ge 1$, let $B_n \in \mathcal{F}_n$ and

(10)
$$B_{n} \supset [E(I_{t=n+1}, (x_{t}^{2} - y_{t}) | \mathcal{F}_{n}) > 0] .$$

Let $A_{n+1} = B_n[t=n+1]$ and C_n be the \mathcal{F}_n -measurable cover of A_{n+1} . If (2) and (7) hold, then

(11)
$$P\left[\sum_{k=1}^{\infty} E(d_{k+1}^{2} \mid \mathcal{F}_{k}) = \infty, x^{*} < K\right] = 0,$$

(12)
$$P[x_n \text{ diverges, } \sum_{k=1}^{\infty} E(d_{k+1}^2 | \mathcal{F}_k) < \infty] = 0.$$

Proof. For m = 1, 2, ..., define $t^* = t_m^*$ by (1). Put $z_n = \sum_{k=1}^n d_k I_{t^* \geq k}$. Then $(z_n, \mathcal{F}_n, n \geq 1)$ is a martingale and

As in the proof of Theorem 3, we have

$$\sum_{k=m+1}^{\infty} \int_{[t^*=t=k]}^{\infty} x_t^2 \le \sum_{k=m+1}^{\infty} \int_{[t=k]-B_{k-1}}^{\infty} ((x_t^2 - y_t) + y_t)$$

$$\le M ;$$

hence $\sup E z_n^2 < \infty$ and $E \sum_{k=1}^{\infty} d_k^2 I_{t^* \ge k} < \infty$. Therefore $\sum_{k=1}^{\infty} E(d_k^2 \mid \mathcal{F}_{k-1}) I_{t^* \ge k} < \infty$ a.e. and

$$P \left[\sum_{k=1}^{\infty} E(d_k^2 \mid \mathcal{F}_{k-1}) = \infty, t_m^* = \infty \right] = 0$$
.

By Lemma 1, (11) holds.

In [6; p.320], Doob stated that if $(x_n, \mathcal{F}_n, n \ge 1)$ is a martingale and $E(d^*)^2 < \infty$, then x_n converges if and if $\sum E(d_{k+1}^2 | \mathcal{F}_k) < \infty$. However, his proof of the "if" part requires only the assumption that $E(d_{k+1}^2 | \mathcal{F}_k) < \infty$. Hence (12) is a special case of Doob's theorem.

Theorem 5. Let $(x_n, \mathcal{F}_n, n \ge 1)$ be a martingale, $E |x_n| < \infty$, and for K > 0, define

(13)
$$t = \inf \{ n \mid s_n \geq K \} .$$

Assume $(y_n, \mathcal{F}_n, n \ge 1)$ is a stochastic sequence such that $y_n \ge 0$, a.e. For $n \ge 1$, let $B_n \in \mathcal{F}_n$ and

$$\mathbf{B}_{n} \supset [\mathbf{E}(\mathbf{I}_{t=n+1}] \ (\mathbf{s}_{t} - \mathbf{y}_{t} | \mathbf{x}_{n}) > 0] \qquad .$$

Let $A_{n+1} = B_n[t=n+1]$ and C_n be the \mathcal{F}_n -measurable cover of A_{n+1} . If (2) and (7) hold, then

(15)
$$P[x_n \text{ diverges, } s < K] = 0.$$

Proof. For $m=1,2,\ldots$, define $t=t_m^*$ by (1). Put $e_k=d_k$ I $[t^*\geq k]$ and $z_n=\sum_{k=1}^n e_k$. Then $(z_n,\mathcal{F}_n,n\geq 1)$ is a martingale, and

$$\begin{split} \mathbb{E} (\sum_{k=1}^{n} e_{k}^{2})^{1/2} & \leq \int_{\mathbb{T}^{*} \times \mathbb{T}^{*}} s_{n} + \int_{\mathbb{T}^{*} \times \mathbb{T}^{*}} s_{m} + \sum_{k=m+1}^{n} \int_{\mathbb{T}^{*} \times \mathbb{T}^{*}} s_{k} \\ & \leq \mathbb{K} + \mathbb{E} s_{m} + \sum_{k=m+1}^{\infty} \int_{\mathbb{T}^{*} \times \mathbb{T}^{*}} s_{k} \\ & \leq \mathbb{K} + \mathbb{E} s_{m} + \sum_{k=m+1}^{\infty} \int_{\mathbb{T}^{*} \times \mathbb{T}^{*}} s_{k} \end{split}$$

As before, we have

$$\sum_{k=m+1}^{\infty} \int_{[t^*=t=k]} s_k \leq \sum_{k=m+1}^{\infty} \int_{[t=k-B_{k-1}]} (s_t - y_t + y_t) \leq M .$$

Hence $E(\sum_{k=1}^{\infty} e_k^2)^{1/2} < \infty$ and by Burkholder's theorem, z_n converges a.e.. Hence $P[x_n]$ diverges, $t^* = \infty] = 0$. By Lemma 1, we have (15).

6. Application and Corollaries.

In order to apply Theorems 3, 4 and 5, we need some identification of a measurable cover, which is furnished by the following lemma.

Lemma 2. Let G be a G-field of measurable sets and let C be the G-measurable cover of a measurable set A. Then C = [P(A | G) > 0]. Proof. First, $P(A-C) = PA - P(AC) = PA - \int_C P(A | G) = PA - E(P(A | G)) = 0$. Now, let $B \in G$ and P(A - B) = 0. Then P(A - ABC) = 0 and P(A(C - B)) = 0. Hence $\int_{C-B} P(A | G) = P(A(C - B)) = 0$. Since P(A | G) > 0 a.e. on C, P(C - B) = 0.

Theorem 6. Let $(x_n, \mathcal{F}_n, n \ge 1)$ be a martingale with $\mathbb{E}|x_n| < \infty$.

(i) If $(\mathcal{F}_n, n \geq 1)$ is a regular stochastic basis, then except on a null set, the following statements are equivalent:

$$(16) s < \infty,$$

(18)
$$\sum_{k=1}^{\infty} \mathbb{E}(d_{k+1}^2 \mid \mathcal{F}_k) < \infty .$$

- (ii) If $E_t d_t^2 < \infty$ for every stopping time t of the form $t = \inf\{n \mid |x_n| \ge K\}$, then, except on a null set, (17) and (18) are equivalent.
- (iii) For K > 0, put t = $\inf\{n \mid x_n \geq K\}$ and $\tau = \inf\{n \mid s_n \geq K\}$. If $E_t x_t < \infty$, then $P[s = \infty, \sup x_n < K] = 0$, and if $E_\tau s_\tau < \infty$, then $P[x_n]$ diverges, s < K] = 0. In particular, if $E_\sigma \mid d_\sigma \mid < \infty$ for every stopping time σ , then, except on a null set, (16) and (17) are equivalent.
- (iv) For K > 0, put t = inf{n|x_n \geq K} and $_{\tau}$ = inf{n|s_n \geq K} . Let M \geq K and $_{\delta}$ > 0. If

(19)
$$P\{[t \ge n] - ([P(x_{n+1} \ge M | \mathcal{F}_n) = 0] \cup [P(x_{n+1} \ge K | \mathcal{F}_n) \ge \delta])\} = 0 ,$$
 then
$$P[s = \infty, \sup_n x_n < K] = 0, \text{ and if }$$

(20)
$$\mathbb{P}\{[s \ge n] - ([\mathbb{P}(s_{n+1} \ge M | \mathcal{F}_n) = 0] \cup [\mathbb{P}(s_{n+1} \ge K | \mathcal{F}_n) \ge \delta])\} = 0 ,$$
 then $\mathbb{P}[x_n]$ diverges, $s < K] = 0 .$

Proof. (i) Put $y_n=0$ and $B_n=\Omega$ for each n. Then $A_n=[t=n]$ and for some M>0 ,

$$P(U_{k=n}^{\infty} C_k) \leq \sum_{k=n}^{\infty} P C_k \leq M \sum_{k=n+1}^{\infty} P A_k = M P[n < t < \infty] .$$

Hence (2) holds. The equivalence of (16), (17) and (18) follows immediately from Theorems 3,4,5 and Lemma 1.

(ii) For
$$K > 0$$
, put $y_n = 2K + 2d_n^2$. On the set $[t = n+1]$,
$$x_t^2 \le 2(x_{t-1}^2 + d_t^2) \le 2K + 2d_t^2 = y_t$$
.

Let $B_n = \phi$ for each n in (10). Theorem 4 implies that (17) and (18) are equivalent.

(iii) Assume that $E_t x_t < \infty$. Put $y_n = \max(0, x_n)$. Then $E_t y_t < \infty$. Let $B_n = \emptyset$ for each n in (6). By Theorem 3, $P[s = \infty, \sup x_n < K] = 0$.

Assume that $E_T s_T < \infty$. Put $y_n = s_n$. Then $E_T y_T < \infty$. Let $B_n = \emptyset$ for each n in (14). By Theorem 5, $P[x_n \text{ diverges, } s < K] = 0$.

If $E_{\sigma}|d_{\sigma}|<\infty$ for every stopping time σ , then for every K>0, $E_{t} x_{t} \leq K + E_{t}|d_{t}|<\infty \text{ and } E_{\tau}s_{\tau} \leq K + E_{\tau}|d_{\tau}|<\infty. \text{ Hence (16) and (17) are equivalent.}$

(iv) For the first part, we will apply Theorem 3. Put $y_n = M$ for each n and $B_n = \left[E(I_{t=n+1}](x_t - M) | \mathcal{F}_n) > 0 \right]$. From Lemma 2,

$$\begin{split} & \text{P C}_{n} = \text{P [P(A}_{n+1} | \mathcal{F}_{n}) > \text{O]} \\ & = \text{P [t > n, P(x}_{n+1} \geq \text{K} | \mathcal{F}_{n}) > \text{O, E(I}_{[x}_{n+1} \geq \text{K]} (x_{n+1} - \text{M}) | \mathcal{F}_{n}) > \text{O]} \\ & \leq \text{P [t > n, E(I_{[x}_{n+1} \geq \text{M]} (x_{n+1} - \text{M}) | \mathcal{F}_{n} > \text{O]}} . \end{split}$$

Since $\mathbb{E}\left|\mathbf{x}_{n+1}\right|<\infty$, by monotone convergence theorem for conditional expectations,

$$\left[\mathbb{E} \left(\mathbb{I}_{\left[\mathbf{x}_{n+1} \geq \mathbf{M} \right]} \left(\mathbf{x}_{n+1} - \mathbf{M} \right) \middle| \mathcal{F}_{n} \right) > \mathbf{0} \right] \subset \left[\mathbb{P} \left(\mathbf{x}_{n+1} \geq \mathbf{M} \middle| \mathcal{F}_{n} \right) > \mathbf{0} \right] .$$

Hence

$$\begin{split} & \text{P C}_{n} \leq \text{P [t > n, P(x_{n+1} \geq M|\mathcal{F}_{n}) > 0]} \\ & \leq \text{P [t > n, P(x_{n+1} \geq K|\mathcal{F}_{n}) \geq \delta]} \\ & \leq \delta^{-1} \int_{\left[t > n\right]} P(x_{n+1} \geq K|\mathcal{F}_{n}) = \delta^{-1} P[t = n+1] . \end{split}$$

Therefore

$$P(U_{k=n}^{\infty} C_{k}) \leq \sum_{k=n}^{\infty} PC_{k} \leq \delta^{-1} P[n < t < \infty] \rightarrow 0$$

as $n \to \infty$, and by Theorem 3, $P[s = \infty, \sup x_n < K] = 0$.

For the second part, we only need to replace Theorem 3, x_n and t respectively by Theorem 5, s_n and τ in the preceding proof.

The equivalence of (16) and (17) in Theorem 6(i) extends Gundy's result (mentioned in the first section) to non-atomic cases. Theorem 6(ii) was due to Doob [4; p.322-323]. Theorem 6(iii) was due to Burkholder [2, Theorem 4]. Condition (19) was introduced by Doob [5] to ensure a submartingale $(x_n, x_n, n \ge 1)$ converges a.e. on the set [sup $x_n < K$]. His method in [5] can not be applied here.

As an application, we prove the following Burkholder's martingale transform convergence theorem.

Theorem 7 (Burkholder [2]). Let $(x_n, \mathcal{F}_n, n \geq 1)$ be a martingale and $\sup E[x_n] < \infty$. If $(g_n, \mathcal{F}_{n-1}, n \geq 1)$ is a stochastic sequence such that $\sup |g_n| < \infty$ a.e., then $\sum_{k=1}^{\infty} g_k d_k$ converges a.e..

Proof. By Doob's martingale convergence theorem, x_n converges a.e. . Let τ be a stopping time and $\tau_n = \min (\tau, n)$. Then [6; p.300]

$$\mathbb{E}_{\tau} | \mathbf{x}_{\tau} | \leq \lim_{n \to \infty} \mathbb{E} | \mathbf{x}_{\tau}_{n} | \leq \lim_{n \to \infty} \mathbb{E} | \mathbf{x}_{n} | < \infty$$

By Theorem 6(iii), s < ∞ a.e. . Note that without loss of generality we can assume that $|\mathbf{g}_n| \leq 1$ a.e. for each n. Then $\sum_{k=1}^{\infty} \mathbf{g}_k^2 \, \mathbf{d}_k^2 < \infty$ a.e. . For K > 0, put $\mathbf{t} = \mathbf{t}_K = \inf\{n | |\mathbf{x}_n| \geq K\}$, $\mathbf{e}_k = \mathbf{I}_{\lfloor t \geq k \rfloor} \, \mathbf{g}_k \, \mathbf{d}_k$, and $\mathbf{z}_n = \sum_{k=1}^n \mathbf{e}_k$. Then $(\mathbf{z}_n, \mathcal{F}_n, n \geq 1)$ is a martingale and $\sum_{k=1}^{\infty} \mathbf{e}_k^2 < \infty$ a.e. . Since $|\mathbf{e}_k| \leq \mathbf{I}_{\lfloor t \geq k \rfloor} \, |\mathbf{x}_k - \mathbf{x}_{k-1}| \leq 2K + |\mathbf{x}_t| \, \mathbf{I}_{\lfloor t < \infty \rfloor}$, $\mathbf{E}(\sup_{k = 1}^n \mathbf{e}_k) < \infty$. By Theorem 6(iii) (or [2, Theorem 4]), $\sum_{k=1}^{\infty} \mathbf{e}_k$ converges a.e. and $\mathbf{P}[\sum_{k=1}^{\infty} \mathbf{g}_k \, \mathbf{d}_k$ diverges, $\mathbf{t} = \infty] = 0$. Since $\lim_{K \to \infty} \mathbf{P}[\mathbf{t}_K = \infty] = 1$, $\sum_{k=1}^{\infty} \mathbf{g}_k \, \mathbf{d}_k$ converges a.e. .

7. A submartingale convergence theorem.

Theorem 8. Let $(x_n, \mathcal{F}_n, n \ge 1)$ be a submartingale, $\mathbb{E} |x_n| < \infty$, and for K > 0, define

$$t = \inf \{n | x_n \ge K\}$$
.

Assume that $(y_n, \mathcal{T}_n, n \ge 1)$ is a stochastic sequence such that $y_n > 0$ a.e. For $n \ge 1$, let $B_n \in \mathcal{T}_n$ and

$$\mathbf{B}_{\mathbf{n}} \supset \left[\mathbf{E} (\mathbf{I}_{\left[\mathbf{t} = \mathbf{n} + \mathbf{I}\right]} \left(\mathbf{x}_{\mathbf{t}} - \mathbf{y}_{\mathbf{t}} \right) \middle| \mathbf{F}_{\mathbf{n}} > \mathbf{0} \right] \quad .$$

Let $A_{n+1} = B_n[t = n+1]$ and C_n be the \mathcal{F}_n -measurable cover of A_{n+1} . If (2) and (7) hold, then $P[x_n]$ diverges, $\sup x_n < K] = 0$.

Proof. For $m=1,2,\ldots$, define $t^*=t_m^*$ by (1). Then t^* is a stopping time and $t^*\leq t$ a.e. Put $z_n=\sum_{k=1}^n \sum_{k=1}^n t_k^*$, where $d_1=x_1$ and

Since

$$\begin{split} & \sum_{k=m+1}^{\infty} \int_{\text{[t^*=t=k]}} x_{t} \leq \sum_{k=m+1}^{\infty} \int_{\text{[t=k]-B}_{k-1}} (x_{t} - y_{t} + y_{t}) \\ & \leq M + \sum_{k=m+1}^{\infty} \int_{\Omega - B_{k-1}} E(I_{\text{[t=k]}}(x_{t} - y_{t}) | \mathcal{F}_{k-1}) \leq M \end{split} ,$$

 $\sup \ \mathbb{E} \ z_n^+ < \infty . \ \ \text{Since} \ \ \mathbb{E} \ z_1^- > - \infty, \ \ \sup \ \ \mathbb{E} \big| z_n^- \big| < \infty . \ \ \text{By Doob's submartingale}$ convergence theorem, z_n^- converges a.e. . Hence $\ \mathbb{P}[x_n^- \text{ diverges, } t_m^+ = \infty] = 0.$ By Lemma 1, $\ \mathbb{P}[x_n^- \text{ diverges, } t = \infty] = 0, \ \text{i.e.,} \ \mathbb{P}[x_n^- \text{ diverges, sup } x_n^- < \mathbb{K}] = 0.$

If condition (19) holds, then the conditions of Theorem 8 are satisfied, as in the proof of Theorem 6(iv), by letting $y_n = M$ and

$$B_{n} = [E(I_{t = n+1]}(x_{t} - M)|\mathcal{F}_{n}) > 0] .$$

Hence Theorem 8 includes Doob's theorem as a special case and the classical submartingale convergence theorem can be obtained from Theorem 8. If the stoch-astic basis $(\mathcal{F}_n, n \geq 1)$ is regular, the conditions of Theorem 8 are satisfied by letting $y_n = 0$ and $B_n = \Omega$. Then the preceding proof of Theorem 8 becomes rather simple.

References

- [1] Austin, D.G. (1966). A sample function property of martingales. Ann. Math. Statist. 37, 1396-1397.
- [2] Burkholder, D.L. (1966). Martingale transforms. Ann. Math. Statist. 37.
- [3] Chow, Y.S. (1960). Martingales in a σ -finite measure space indexed by directed sets. <u>Trans. Amer. Math. Soc. 97</u>, 254-285.
- [4] Doob, J.L. (1953). Stochastic processes. New York, Wiley.
- [5] Doob, J.L. (1961). Notes on martingale theory. Proc. Fourth Berkeley Symp. Math. Statist. Prob. II, 95-102.
- [6] Gundy, R.F. (1966). Martingale theory and pointwise convergence of certain orthogonal series. Trans. Amer. Math. Soc. 124, 228-248.
- [7] Loéve, M. (1951). On almost sure convergence. Proc. Second Berkeley Symp. Math. Statist. Prob. 279-303.